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T: Now, you’re going to share your answers with the class. Let’s
start from Group 1.
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T: Class, you now have a few minutes to discuss the question with

your partner. Let’s start!
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T: Good morning, everyone. (Ss: Good morning, Mr. Lai 3
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T: Class, you now have a few minutes to discuss the question with
q
your partner. Let’s start!
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T: Now, you’re going to share your answers with the class. Let’s
start from Group 2.
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T: Class, you now have a few minutes to discuss the question with
your partner. Let’s start!
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T: Now, you’re going to share your answers with the class. Let’s
start from Group 3.

125. 6+3. 14+2=20
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90+360= 360 - 4

20x20x3. 14x % =314
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T: You were great today. Thank you, students.

( Ss: Thank you, Mr. Lai.)

T: Good job. Everybody, give yourself a big hand.
(Ss:clapping hands)

T: Okay, I’ll see you next time! Bye!
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(Ss: Bye.)
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